
Detail Results of Bee VRPSTW for Problem Instances C1
(Number of Customer = 100, Vehicle Capacity = 200)

Problem Result Plan: 1 Plan: 2 Plan: 3
Instances Type

avg TTC = 938.263,%WB = 34.25 TTC = 900.622,%WB = 33.5 TTC = 853.677,%WB = 33.75
C1 01 min TTC = 869.803,%WB = 33.5 TTC = 830.298,%WB = 32 TTC = 791.508 ,%WB = 32.5

(V = 10) max TTC = 1006.723,%WB = 35 TTC = 970.946,%WB = 35 TTC = 915.846 ,%WB = 35
med TTC = 930.698,%WB = 33.5 TTC = 925.456,%WB = 34 TTC = 850.945,%WB = 33

avg TTC = 859.787,%WB = 25 TTC = 820.290,%WB = 24 TTC = 803.645,%WB = 26.5
C1 02 min TTC = 800.949,%WB = 24 TTC = 767.804,%WB = 23 TTC = 736.759 ,%WB = 25.5

(V = 10) max TTC = 918.625,%WB = 26 TTC = 872.777,%WB = 25 TTC = 870.531 ,%WB = 27.5
med TTC = 860.266,%WB = 25 TTC = 812.735,%WB = 23.5 TTC = 814.372,%WB = 27

avg TTC = 693.572,%WB = 18.5 TTC = 654.304,%WB = 17.5 TTC = 599.358,%WB = 18
C1 03 min TTC = 612.522 ,%WB = 17.5 TTC = 599.18 ,%WB = 17 TTC = 589.187,%WB = 18

(V = 10) max TTC = 774.622 ,%WB = 19.5 TTC = 709.429 ,%WB = 18 TTC = 609.529,%WB = 20
med TTC = 689.009,%WB = 18.0 TTC = 650.02,%WB = 18 TTC = 589.422,%WB = 17.5

avg TTC = 936.9975,%WB = 9 TTC = 849.957,%WB = 8.25 TTC = 699.089,%WB = 7.75
C1 04 min TTC = 850.532,%WB = 8 TTC = 702.45,%WB = 7 TTC = 628.310 ,%WB = 6.5

(V = 10) max TTC = 1023.463,%WB = 10 TTC = 997.465,%WB = 9.5 TTC = 769.868 ,%WB = 9
med TTC = 936.262,%WB = 9 TTC = 862.456,%WB = 8.5 TTC = 688.263,%WB = 7.5

avg TTC = 957.8165,%WB = 32.25 TTC = 958.278,%WB = 30.5 TTC = 894.087,%WB = 31
C1 05 min TTC = 909.222,%WB = 33 TTC = 858.511,%WB = 32 TTC = 835.119 ,%WB = 32.5

(V = 10) max TTC = 1006.411,%WB = 31.5 TTC = 958.046,%WB = 32.5 TTC = 953.055 ,%WB = 29.5
med TTC = 965.003,%WB = 32.5 TTC = 980.547,%WB = 31.5 TTC = 896.728,%WB = 31

avg TTC = 807.75,%WB = 29.25 TTC = 730.194,%WB = 28.5 TTC = 703.426,%WB = 32
C1 06 min TTC = 733.590,%WB = 28 TTC = 705.217,%WB = 28.5 TTC = 689.941 ,%WB = 31

(V = 10) max TTC = 881.910,%WB = 30.5 TTC = 855.189,%WB = 29 TTC = 716.910 ,%WB = 33
med TTC = 812.579,%WB = 29.5 TTC = 761.89,%WB = 28.5 TTC = 711.728,%WB = 32.5

avg TTC = 1149.255,%WB = 28.75 TTC = 976.25,%WB = 29 TTC = 923.840,%WB = 28.5
C1 07 min TTC = 905.613,%WB = 27.5 TTC = 876.401,%WB = 28 TTC = 844.600 ,%WB = 27

(V = 10) max TTC = 1392.897,%WB = 30 TTC = 1176.099,%WB = 30 TTC = 1003.081 ,%WB = 30
med TTC = 1112.006,%WB = 26 TTC = 978.778,%WB = 29 TTC = 920.385,%WB = 28

avg TTC = 923.033,%WB = 25.5 TTC = 879.404,%WB = 24 TTC = 874.782,%WB = 26
C1 08 min TTC = 876.692,%WB = 23 TTC = 772.208,%WB = 23 TTC = 779.385,%WB = 24

(V = 10) max TTC = 969.375,%WB = 28 TTC = 886.006,%WB = 25 TTC = 942.180,%WB = 28
med TTC = 934.073,%WB = 27 TTC = 876.907,%WB = 24 TTC = 869.218,%WB = 27

avg TTC = 747.097,%WB = 18.25 TTC = 746.590,%WB = 19.5 TTC = 862.782,%WB = 26
C1 09 min TTC = 670.832,%WB = 16.5 TTC = 690.386,%WB = 18.5 TTC = 773.385 ,%WB = 24

(V = 10) max TTC = 823.362,%WB = 20 TTC = 802.795,%WB = 20.5 TTC = 952.180, %WB = 28
med TTC = 745.2,%WB = 18 TTC = 740.07,%WB = 19 TTC = 869.218,%WB = 27
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